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Mr. Lynch

Part I:  Place the letter of the correct answer on the line provided!
_____ 1) The point of concurrency of the three altitudes of a triangle is called the:



a) orthocenter


b) centroid




c) incenter


d) circumcenter

_____ 2) Which of the following methods could be used to prove ΔABD 
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ΔCBD?
                                                                     B


                                                        A             D             C


a) AA

b) SAS

c) SSS

d) ASA
e) HL 

_____ 3) What is the formula for area of a parallelogram?



a) bh

b) 1/2bh
c) ½(d1 + d2) 

d) e3
_____ 4) Which is not a property of a rhombus?


a) the diagonal are perpendicular

b) the diagonals bisect each other



c) the diagonal bisect the angles

d) the diagonals are congruent

_____ 5) What is the total number of the degrees on the inside of a regular hexagon?


a) 180

b) 360

c) 720

d) 1,080

Part II:  Complete each of the following!
6) Find the equation in slope-intercept form on the line passing through the point (-1,8) and having an undefined slope.
7) The vertices of triangle ABC are A(-2,1), B(-1,4), and C(-5,2).


a) Graph and label triangle ABC.


b) Graph and state the coordinate of A′B′C′, the image of ABC after a reflection in the x-axis.


c) Graph and state the coordinates of triangle A′′B′′C′′, the image of A′B′C′ after a translation R270.


d) Graph and state the coordinates of triangle A′′′B′′′C′′′, the image of A′′B′′C′′ after D2.

8)  
Given:  CA is the bisector of <BAD

  

                         AC is perpendicular to BD                           A


 




Prove: AB 
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AD

                                                                              B                              D

                                                                                               C

9) The US Pentagon is a regular pentagon whose outer walls are each 921 feet in length.
a)  Find the area, to the nearest square foot, covered by this enormous building, including the center courtyard. 
10) In circle O, AEC is a secant and AB is tangent to circle O at B.  CE = 7, EA = 5.  Find the length of AB.
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